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is the symbol duration). We know that transmitted signal x(t) is generated by the modulation of the transmitted

data sequence x[n] into the interpolation filter shape �t(t) as,

x(t) =
+1
X

n=�1
x[n]�t(t� nTs), (7)

where Ts is the sampling period. The signal x(t) is transmitted over a noisy, doubly selective V2V channel as

described in Section ??. Therefore, the received signal can be written as,

r(t) =

Z

+1

�1
hc (t, ⌧)x(t� ⌧)d⌧ + z(t). (8)

Here, hc(t, ⌧) is the channel’s time-varying impulse response and z(t) is complex noise. At the receiver, r(t) is

converted into the discrete-time received signal using anti-aliasing filter �r(t) by,

r[n] =

Z

+1

�1
r(t)�r(nTs � t)dt. (9)

An equivalent discrete-time channel h[n,m] is described by the following relationship between the discrete-time

signals x[n] and r[n]:

r[n] =
+1
X

m=�1
h [n,m]x[n�m] + z[n], (10)

where

h[n,m] =

Z

+1

�1

Z

+1

�1
hc (t+ nTs, ⌧)�t(t� ⌧ +mTs)�r(�t)dtd⌧. (11)

B. Receiver Process

Assuming that h[n,m] is causal with maximum delay M � 1, i.e., h[n,m] = 0 for m � M , we can rewrite (10)

as

r[n] =
K�1

X

k=0

M�1

X

m=0

H [k,m]x[n�m]ej
2⇡
K

nk
+ z[n], (12)

where H [k,m], the discrete-delay-Doppler spreading function [24], given by

H [k,m] =

1

K

K�1

X

n=0

h [n,m] e�j 2⇡
K

nk (13)

where K =

The source vehicle transmits a sequence of Nr +M � 1 pilot symbols, x[n], n = �(M � 1), ..., Nr � 1, over a

channel.
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